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Q1: Assessor’s comments
Not a very popular question. This question focused on vortex-induced vibration of a structure.

Surprisingly, students performed less well on the descriptive, than on the analytical, aspects of the
question.
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Q2: Assessor’s comments

A popular question on the use of en
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ergy arguments in the study of the stability of a capillary jet that
rformed, in general, less well where required to provide
le, no explanations were offered.




@W'Ec% 3

0
C ) CD(V)LCLMV (e r/"“g U}' M & VM'X l" W‘-m\"{;'ﬂ’\'ha'i VZ.IUL% ,u_
ok in oo/ 7 B duin 1y, with ceuenbisl velady U
Nﬁm‘k@% vicows ot oy =n -u;. an Wﬁgia,’ O, (,clafg;_vgei
i

=4 Ug "(f.‘_)"ivl

28

An ( Gwin) -——.%.gf —- gt , The promsz gradied 40 sk sufhicienk
N r ,
b held & rng witk Vel Uy ok te diin 1, dhass

i P F3 \ "
i Li, > l,lf , A l,li >Uy,  then iocbid upmm.g,m:{. An ok
l‘i ‘"1

suflecipin b offprd e @ al force A reng condcim Cubands (k)
Vs Feguvt M =l shabibly

Suio, for g =(R/EI U
(U = S Gy - Us 20 (ri>5)

& %{rlul) z0

— hﬂ J
i 4 Y 4 [r"ﬁ )1 =0 W m}".
[

b), Yoo dimgnrionwd maxng V"Wff : % )\ 2=bt)
E\’A}W(hi,l\f)i 'ﬁﬁ\d V. g = C. ; /\\“// I 4

froume b"f“zji?&»kio\'wl Ji-:Vjé an ?Xaj.j;@
= V'Q?fl‘ =0 (}owm}ﬁ zef.




Cuission. & con”
Ug) i namehic do.ct |
Packicles on ankertowe, temasa on x)ihffc:‘tcg. Sc cieﬂh&u:&/ Flxypk) = x—?{x,z)
Hogn F=0 on ;(#az ard. /2 =0 gwed
.J.iﬂ‘" = W Z=
% + ;i% W o z
:p.imm'-, Ao G2 o
Jf‘glfmw@ An l_gw)m'www'\ WOTsSs A,u}:zrfvﬁ’! vovke sheek, %0 F‘D‘VLA:W*!FM‘-AJJ/
&W ‘{?__: 7 ,#'H-‘z’ 3 - ...”i__ o _ ;
- gy ][] e
e S0 l:l' _ % )Jq \ Z>0 5 _’dlzuql— 270
U, <0 ¢J-: u;a:'. 220

e

te

P = Fs"f'g'?’— Z»>0
poegt  *<C

Tebroduciny pokw hakions # haoe skote
. i £ ) ¥ i o - o

ﬁ,¢ﬁ+]}hx > A’,éﬁ'uix; |‘=P+i’ ) 2"0*2 &k Mrraanivg

dmrrwui @],ua-ﬁm recucer A& V’ig'i%o >0 | ¢4, =0 2<0

&W‘}m@&w vecduce B 3yl Uy 3 = el i e o
e o ??& 120 =
a,i + Ii,;&zi: A ox ok dx ok
2 %  af acllaﬁ-uefl on 2=0.

Lhatst

Sgek nomral wode solakionn of Fort (Ql’ ) = [6;%)9

* | Hoenw, e diskwkane f5 be anfined so bot Wolli an 2= oo |
f. 3y ) A 5 ) . s

bk %) = Be brgbarol  gn ey WG an 2+

%‘Lz) = ™ phErsh on mwm?, V' —>0 an >0

Yoremalic (,{i;;epm}ﬂi’)‘h,c.‘s 3»\?& C '~=[S+u-;5k)‘?/n b b= -(5+.L{,£k) :}i/p_
m‘jﬂaﬂﬂ; (MW) b.i. T\(Zv‘) 42,3‘ + ﬂkh [_L{ﬁ’uz\ - “’59( U_{"«l-—d{l) = 0

= 5= -—% (M) + ak(u,~Uz) .

(Q3: Assessor’s comments
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Q4: Assessor’s comments
This question was also popular. It required the students to describe and analyse a galloping instability.

Based on the average mark, the cohort understood well this aspect of the course.



